Tomorrow's Quiz

Determine the position, velocity, and acceleration
(including proper units)

Determine speed and average velocity
(including proper units)

When is a particle moving to the right? Left?
at rest? changing direction? Justify.



Position feet
Velocity feet/sec

Acceleration feet/sec’
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s(H)= Gt —Gt-12= Gk -2t + )
a) when is the particle moving to the right? Left? Justify

— -+ )
E 5 >sth) Right: (2, inf) because s'(t) > C
Left: (O, 2) because s'(t) < 0

b) When is the particle changing direction? Justify

t = 2 because s'(t) changes signs

c) What is the velocity at t = 2?2 acceleratlon att=2?
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A rock is thrown upward and its position is modeled by
s(+) 7 -l et +04 ) siH)=-32t + 4L
where t is measured in seconds and s(t) is measured in feet
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a) What is the average velocity on the interval [Oy\lnclude

units of measure (o, o4) 1, 960)
q‘j"_("é~ = B Ptfsec —
b) When will the rock hit the ground? Find the velocity
at that time. Include units ()= 5(H) ¢ O="W(g ->t- "ﬂ)
-é=<1‘sec.J S'(9)= -804 sec. O=-le + -]
c) What is the speed att = 2? Include units ’si(ﬂi o ‘UH\S”




()= deosdt S (H)=-4 sin(a¥)
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) Changing direction att = 1 because
s'(t) changes signs
Moving to the right (0,1) because
“3(‘1-2'-1\: s'() > 0; moving to the left (1, inf)

<+ t:b([) because s'(t) < 0
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